
Ввод Вывод

Алгебра 3
Геометрия 5
Физика 4
Информатика 5
Алгебра 4
Русский язык 4
Физика 3

Алгебра

5

Ввод Вывод

art 2
Technology 1
mathematics 2
Chemistry 1
writing 4
Drawing 3
Biology 5
Geography 3
mathematics 2
psychology 4
writing 2
art 1
mathematics 4
art 1

calculus

Нет предмета

[‘алгебра’]=7
[‘геометрия’]=5
[‘физика’]=7

[‘алгебра’]=2
[‘геометрия’]=1
[‘физика’]=2

Алгебра 3
Геометрия 5
Физика 4
Информатика 5
Алгебра 4
Русский язык 4
Физика 3

Алгебра

Algebra 3
Geometry 5
Physics 4
Informatic 5
Algebra 4
Russ 4
Physics 3

Algebra

dict1 = dict()
dict2 = dict()
string_ = input().split(' ')
last = string_[len(string_) - 1]
string_.pop()
first = ' '.join(string_)
while first != '':
   if first not in dict1:
       dict1[first] = int(last)
   else:
       dict1[first] += int(last)
   if first not in dict2:
       dict2[first] = 1
   else:
       dict2[first] += 1
   string_ = input().split(' ')
   last = string_[len(string_) - 1]
   string_.pop()
   first = ' '.join(string_)
predmet = input()

"""print(dict1[predmet])
print(dict2[predmet])"""

if predmet not in dict1:
   print('Нет предмета')
   exit()

moreFive = 0
while dict1[predmet] / dict2[predmet] <= 4.5:
   dict1[predmet] += 5
   dict2[predmet] += 1
   moreFive += 1
if dict2[predmet] < 3:
   moreFive += 3 - dict2[predmet]
print(moreFive)


